



$$\begin{aligned}
 & * 2^{15} + 3^{14} + 5^{13} + 7^{12} \\
 & 2^{15} + 3^{14} + 5^{13} + 7^{12} \equiv 0 + 1 + 1 + 0 \\
 & \equiv 2 \equiv 0 \pmod{2} \\
 & 2^{15} + 3^{14} + 5^{13} + 7^{12} \equiv 0 \pmod{11} \\
 & 2^{10} \equiv 1 \pmod{11} \quad 5^{10} \equiv 1 \pmod{11} \\
 & 3^{10} \equiv 1 \pmod{11} \\
 & 2^{10} \cdot 2^5 + 3^{10} \cdot 3^4 + 5^{10} \cdot 5^3 + 7^{10} \cdot 7^4 \equiv \\
 & \equiv 2^5 + 3^4 + 5^3 + 7^4 \quad a^{p-1} \equiv 1 \pmod{p} \\
 & \equiv -1 + 4 + 5 \cdot 3 + 4 \\
 & \equiv 22 \equiv 0 \pmod{11}
 \end{aligned}$$

2 22-17:02

$$\begin{aligned}
 & [17]_{79}^{-1} \\
 & [17]_{79} \cdot [a]_{79} = [1]_{79} \\
 & 17a \equiv 1 \pmod{79} \\
 & 1 = 17a + 79k \\
 & 79 \cdot 14 = 4 \cdot 17 - 10 \quad 79 = 4 \cdot 17 + 10 \\
 & 17 \cdot 10 = 1 \cdot 17 + 7 \quad 17 = 1 \cdot 10 + 7 \\
 & 16 \cdot 7 = 1 \cdot 16 - 3 \quad 10 = 1 \cdot 7 + 3 \\
 & 7 \cdot 3 = 2 \cdot 11 - 1 \quad 7 = 2 \cdot 3 + 1 \\
 & 1 = 7 - 2 \cdot 3 = 7 - 2(10 - 17) = \\
 & = 3 \cdot 7 - 2 \cdot 10 = 3 \cdot (17 - 1 \cdot 10) - 2 \cdot 10 \\
 & = 3 \cdot 17 - 5 \cdot 10 = 3 \cdot 17 - 5(79 - 4 \cdot 17) \\
 & = 23 \cdot 17 - 5 \cdot 79 \\
 & a = 23 \\
 & [17]_{79}^{-1} = [23]_{79}
 \end{aligned}$$

2 22-17:10

$$\begin{aligned}
 & [2^k + 1]_{2^k + 1}^{-1} \\
 & (2^{2k} + 1) : (2^k + 1) = 2^k - 1 \\
 & -(2^{2k} + 1) \\
 & -2^k + 1 \\
 & -(-2^k - 1) \\
 & \text{ok 2} \\
 & (2^k + 1) : 2 = 2^{k-1} \\
 & 1 = (2^k + 1) - 2(2^{k-1}) \\
 & \text{ok 1} \\
 & 1 = (2^k + 1) - (2^{2k} + 1) - (2^k - 1) \\
 & \quad \cdot (2^k + 1)(2^{k-1}) \\
 & = 2^{k-1} [1 + 2^{k-1}(2^k - 1)] \\
 & \quad + \dots
 \end{aligned}$$

2 22-17:19

$$\begin{aligned}
 & \varphi(735) = \varphi(5 \cdot 3 \cdot 7^2) = 2 \cdot 4 \cdot 6 \cdot 7 = 336 \\
 & 735 = 5 \cdot 147 = 35 \cdot 21 \\
 & = 3 \cdot 5 \cdot 7^2
 \end{aligned}$$

2 22-17:25

$$\begin{aligned}
 & 4x \equiv 3 \pmod{7} \\
 & 4x \equiv -4 \pmod{7} \\
 & x \equiv -1 \\
 & \boxed{x = -1 + 7t}
 \end{aligned}$$

2 22-17:29

2 22-17:30

$$\begin{array}{l}
 1) x \equiv 8 \pmod{11} \quad 2) 8 + 11t \equiv 5 \pmod{8} \\
 x \equiv 5 \pmod{8} \quad 3t \equiv 5 \pmod{8} \\
 x \equiv 1 \pmod{3} \quad 3t \equiv -3 \pmod{8} \\
 x = 8 + 11t \quad t \equiv -1 \pmod{8} \\
 \quad \quad \quad t = -1 + 8s \\
 x = 8 + 11(-1 + 8s) = \\
 = -3 + 88s \\
 -3 + 88s \equiv 1 \pmod{3} \\
 s \equiv 1 \pmod{3} \\
 s = 1 + 3k \\
 x = -3 + 88(1 + 3k) \\
 \boxed{x = 85 + 264k}
 \end{array}$$

2 22-17:30

$$\begin{array}{l}
 13^{10^7} \equiv (10) \\
 \equiv 3^{10^7} \pmod{10} \\
 3^1 \equiv 1 \pmod{10} \\
 \underbrace{3 \cdot 3 \cdot 3 \cdot 3 \cdot 3 \cdot 3 \cdot 3 \cdot 3 \cdot 3 \cdot 3}_{10^7} \cdot 3 \cdot 3 \cdot 3 \cdot 3 \cdot 3 \\
 11^{10^7} \equiv ? \pmod{10} \\
 (-1)^{10^7} \equiv -1 \equiv 9 \pmod{10} \\
 3 \cdot 3 \cdot 3 = 27 \equiv 7
 \end{array}$$

2 22-17:35